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Code: 46015 / Finance:Risk Management

Time: ZYzll{ours Total Marks : 75

(08)

alll. Risk and Return ve direct relationship with:each other

3. Standard
from stock volatility

square root of variance of rate of retum.
4. Futures are an

place on future
between two people or entities where settlement takes

at price which is pre decided.
5. Risk is the first step in ERM process
6. Third line of own and manage risk.
1. In Risk Practitioner shall always express inference in the form of oral

reports.
8. Sttppliers, cleditors and Public gl'olrps are all considerecl internal stakeholders
9. ULIP stand for Unit Linked Investment plan.
10. A beta of I indicates that the security price nroves against the martet.

Define Risk. Explain and Credit Risk.
of Risk Governance.

OR
Explain the importance scope

Explain tire power,
Expected losses are

and duties of IRDA.

(07)
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Q2 r]
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Q2Q
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(08)
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i'

the fair if:
a) Policy lirll coverage
b)u cost l0% ofpure premium
c) Claims
d) Interest

paid at the end of the yeat
: ljo/u

e) Expected cost: Rs.600
premlLlm

A B
I IRDA Reform a
2. Currency Risk Insurance for Insurers
3. Risk Futures &c
4" Reinsurance Protection from Loss
5. Derivatives Flow
6. Jensen Measure terest ofthe
7. Residual Risk Third
8, Decision Tree A ralysis h CAPM
9. Motor Insurancr Amount of Risk Left over
10. Insurance j) Exchange Rate Risk

Loss ValLre (in Rs) Probability

200000 0.42
I 0000 0.08
0 0.9
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f) Fair profit: 50% of pure
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2. Equity risk
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Paper / Subject Code: 46015 / Finance:Risk Management

A
B

Q3
Q3

Explain Enterprise Risk Management Matrix.
Discuss the process to make claim in case of Fire Insurance

OR
Distingr"rish between Life and Non-Life lnsurance
F-ollowing is the inforrnation of Bata Ltd under the possible

Calculate the expected retum and standard deviation
A How to identify risk with the help of SWOT Analysis?
B Explain in detailThree Line Defence Model.

OR
From the following information calculates Beta (B) of a security.

ofnature.
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(08)
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(ti)

(7)

(l s)

Q3P
Q3Q

Q4
Q4

Q4

{}.5 A

(].5 li

Qs

What is Reinsurance? State its types

I3xplain lmpofiance of Risk Register

Wrjte a short note on:(any three)
t. Forward, Futures and options.
2. Sample Risk Register.
3. Marine Insurance.
4. [mportance of Actuary.
5. Insurance Securitization.

State of nature Probability Return on stock A (%)
Boom 0.25 '7

Low growth 0.25 10

Stagnation 0.30 t4
Recession 0.20 T9

Year Return on Securi,ty (%) Return on Marl
('%)

:et Porlfolio

I l3 l5
2 I4
J 15 17
4 t3 14
5 12 12
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